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Computer Applications 165

MORE ABOUT HTML

1.	 Write short notes on the following:

(a)	 <AUDIO> Tag

(b)	 Combo box

(c)	 HTML Form

(d)	 Internal Linking

(e)	 ROWSPAN Attribute

(f )	 CELLPADDING Attribute

2.	 Guess who am I?

(a)	 I am an attribute that is used to insert border in the table for its rows and columns.

(b)	 I am a tag that is used to create columns in a row of a table.

(c)	 I am a tag that is used to display the text after leaving a space of two indents from its side margin.

(d)	 I am a tag that is used to display the blocked text in subscript form.

(e)	 I am an attribute of the <IMG> tag that is used to assign an alternative text that will be displayed 
over the image when the mouse pointer is placed over it.

(f )	 I am an attribute of the <IMG> tag that takes the URL of the image to be displayed.

(g)	 I am a tag that is used to display a text exactly same as it is typed in the text editor. 

(h)	 I am an attribute that is used to assign background colour to the entire table.

(i)	 I am a value of the TARGET attribute of the <A> tag that allows you to open the linked document 
in a new window or tab.

3. 	 Write the HTML code to display the following on a web page: 

(a)	 H2SO4

(b)	 (a2 + b2 + 2ab) + (a2 – b2 – 2ab)

4.	 Write a single line code to:

(a)	 create a radio button on a web page.

(b)	 create a password box on a web page.

5.	 Application Based Question.	
	 Rahul has been given an assignment by his class teacher to design a web page that displays the 

chemical equation of photosynthesis. Which tag can he use to accomplish the task?
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